HIGHWAY HAWIC Riser Spartican

_/J_I

oo hironn® Art.nr. 56-067

U/J/j/ ’J//(/

Use for Yoke with100mm distance MIO M12 and M4 | components

Riser "Spartican”

Botl M8 x 30

Springwasher M8

* Spacer @32 x 2mm

** Bush @14 x 50mm

** Bush @12 x 50mm

Washer M10

Washer M10

RIRRRIR[R|R|IR|®

Bolt M10 (1.25) x 75

*loo|y|[o|o|lo|s|wNn =

Required for models with damper kit

i

Required for @14 or 212 MM Yoke

© Motorrad Burchard GmbH advises installation by a professional mechanic. © Motorrad Burchard GmbH
We do not accept responsibility for improper installation. Lemgo — Germany




